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Ifind the perimeters of these triangles:
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@ (q) Find the perimeters of these figures: (;’-,‘) {4 )E\ o axe 4{” Qoo ?
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Evaluate the pronumerals in the f ollowing:
Answers -
Blo) h=a @)
b) x =15 42km
O hxay-y
dyox =g 3.7km
Q) n=5{y2 L
~.07 )
Eg 3m \ d
.a) X ~§.39 o
Dol 265 ¢m
. 76. mm
kw215 | o) a8
d) b')‘»’ I,Ciq . 183 mim
yrues | K
. 232 n
9= 745m ’ B -
3) -ﬂ) A rectangle has sides of 4.38 m and 6.27 m. Find thetength of the diagonal.
ST 4S8 ‘ .
/!A) d= 11837 g) A rectangle Has one side of length 27.3 mm and a diagonal length of 32.4 mm. Find

the length of the other side.

/&) Find the length of the diagonal of a square that has sides of length 837 mm.
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@ /fr— gt <u}ﬂr c200w> () fr= 32S T end | (D) A=P6 mine
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